
Item Ref Description
ASO115847.3 Bmotor,cap.box 1ph E05-0102ASIEN

6 ASO903793 Fuse DUPLEX EAZY 250V 1A
7 ASO115145.3 El.box to big machines grey
8 ASO115170 Rubber sealing
9 ASO945132 Lifting handle motor
10 ASO115172 Rubber sealing motor base plate
11 ASO115144.3 Base plate
13 ASO903226 Motor inlet 3 pol blue
22 ASO903025 Starting cap.25 uF,MKA 25-450
23 ASO903035 Condensator 50 uF for 2,2 kW
24 ASO932820 Key  8x7x20
26 ASO903772 Switch 800 E heavy duty
28 ASO903750 Contactor 5,5 kW 100-M12N
30 ASO903766 Circuit card Duplex Easy compl
31 ASO952416 Screw  MC6S M6x16  fzb
32 ASO965400 Washer  6.4X12X1.6  fzb
33 ASO952513 Screw  MC6S M8x12  fzb
34 ASO900192 Motor 2,2 KW 220V 50Hz Du.Eazy
35 ASO958116 Screw  MRX-H  M5x16  fzb
36 ASO958112 Screw  MRX-H  M4 x 6  fzb 
37 ASO958121 Screw  MRX-H  M5x35  fzb
39 ASO115445 Motor pulley poly-V USA  85 mm
40 ASO965003 Washer  8,4 x26 x 5,0  fzb
41 ASO951519 Screw  M6S M8x25  fzb
44 ASO960900 Nut  M6M M16 fzb
45 ASO952420 Screw  MC6S M6x30 fzb
46 ASO115051 Hinge for motor
48 ASO115163 Intermediate plate
49 ASO115164 Front motor bracket
50 ASO115169 Mounting plate
52 ASO945148 Leaded link GN343.1 T40 M8 x 20
53 ASO903888 Hour meter  (counter) CP-0006
54 ASO115173 Rubber sealing f hour counter
55 ASO958033 Screw MFX M4x25 fzb
56 ASO961200 Nut lock king  M4
57 ASO903794 Overload protection Easy
58 ASO115452 Tension belt device complete
59 ASO965002 Washer 8,2x30x6 FZB

Bona Belt_AMO110003.3_Motor ASO115847.3_20130410


